
A A

1

A

2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

B

C

D

E

F

G

J

K

L

M

N

P

Q

R

1

A

H

2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19

S

24

B

C

D

E

F

G

H

J

K

L

M

N

P

Q

- --
ETEL S.A.
2112 Môtiers
SWITZERLAND

-0.1
-0.3

+0.3
+0.0

35
27

35
27

13030

52030

8x M6x13
55

30

3527

59
5

30

3527

8x M6x13

(3
40

)
M

id
dl

e 
of

 th
e 

st
ro

ke

(340)
Middle of the stroke

680 0.1

35
27

310304x M6 x 13

736 1

28 0.7

28 0.7

35 27

68
0

0.
5

32
5

30

4x M6 x 13

69
3

1

40 600

40

84 8x 64

71
30

4.
5

90
0.

2

10
5

0.
05

18
x 

90
0.

2

4x 16

4x 9

18x 9

18x 5.5

(149.5)

30
4

2
N

om
in

al
 h

ei
gh

t

27
8.

5
1

(7
5.

6)

(2
05

.5
)

(1
51

.1
)

(127.15) (74.4)

228 1.2

(6
.5

)

60
0

275.8 1

(1
04

.7
5)

Bu
m

pe
rs

 c
om

pr
es

se
d

1379598-01
ttf_etl

ID number

Text: Change No. C137188-01
Released:  

Original drawing    ASME-NNNN-08-0365-0355xx-XYZ3T STACKED S Material:
Matière:Scale Format

RoHS 2:5 A0 ASME-NNNN-08-0365-0355xx-XYZ3T STACKED S
Dimensions in mm / Cotes en mm Mating Dimensions / Cotes d'encombrement
Workpiece edges ISO 13715
Arêtes de formes selon ISO 13715

General tolerances ISO 2768-mK
Tolérances générales ISO 2768-mK

Surfaces as per ISO 1302
Etats de surface selon ISO 1302 

Tolerances as per ISO 8015 : 2011
Tolérances selon ISO 8015 : 2011

Surface treatment:
Traitement de surface:

The reproduction, distribution and utilization of this document as well as the communication of its contents to others without express authorization is prohibited. 
Offenders will be held liable for the payment of damages. All rights reserved in the event of the grant of a patent, utility model or design. ( ISO 16016 )

Version Revision Sheet Page

1379598 00 A 01 1
of
2Document number

 Options table
Theta limited stroke 365
Wobble adjustment kit No
Vacuum kit No vacuum 2
Forks kit Integrated
(PoGo pin) Connector rotative kit No

0.2 A C

0.2 A B

0.2 A C

0.2 A B

0.2 B C 0.2 B C

365  T axis minimum limited stroke

Fine Z Stroke 4mm 

Stroke X = 365 mm min.
Mechanical stroke X = 407 mm max (bumpers compressed)

St
ro

ke
 Y

 =
 3

55
 m

m
 m

in
.

M
ec

ha
ni

ca
l s

tro
ke

 Y
 =

 4
19

 m
m

 m
ax

 (b
um

pe
rs

 c
om

pr
es

se
d)

At the center 
of the X stroke

It is required to assemble Vulcano 2 Stages
on a granite or equivalent flat surface with a
flatness inferior or equal to 5 microns
 
ETEL recommends to keep a clearance 
relative to the motion system's footprint 
of 60 mm for accessibility and servicing 
purpose, the minimum acceptable 
clearance being 20 mm.

A-A

Tip / Tilt = 0.09  min.

B

C

A



1

A

2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

B

C

D

E

F

G

J

K

L

M

N

P

Q

R

1

A

H

2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19

S

24

B

C

D

E

F

G

H

J

K

L

M

N

P

Q

- --
ETEL S.A.
2112 Môtiers
SWITZERLAND

-0.1
-0.3

+0.3
+0.0

 1379598-01
ttf_etl

ID number

Text: Change No. C137188-01
Released:  

Original drawing    ASME-NNNN-08-0365-0355xx-XYZ3T STACKED S Material:
Matière:Scale Format

RoHS 2:5 A0 ASME-NNNN-08-0365-0355xx-XYZ3T STACKED S
Dimensions in mm / Cotes en mm Mating Dimensions / Cotes d'encombrement
Workpiece edges ISO 13715
Arêtes de formes selon ISO 13715

Surfaces as per ISO 1302
Etats de surface selon ISO 1302 

Tolerances as per ISO 8015 : 2011
Tolérances selon ISO 8015 : 2011

Surface treatment:
Traitement de surface:

The reproduction, distribution and utilization of this document as well as the communication of its contents to others without express authorization is prohibited. 
Offenders will be held liable for the payment of damages. All rights reserved in the event of the grant of a patent, utility model or design. ( ISO 16016 )

Version Revision Sheet Page

1379598 00 A 01 2
of
2Document number

1:2

Front panel

Front panel
1:1

X1 Vacuum
Outer diameter ø6 mm
Inner diameter ø4 mm

Y Vacuum
Outer diameter ø6 mm
Inner diameter ø4 mm

T Vacuum
Outer diameter ø6 mm
Inner diameter ø4 mm

Chuck vacuum 1, 2, 3 & 4
(from left to right)
Outer diameter ø6 mm
Inner diameter ø4 mm

X2 Vacuum
Outer diameter ø6 mm
Inner diameter ø4 mm

X2 motor:
LEMO PFJ.2B.304.CYCDxx type connnector

X2 encoder:
D SUB 15 pin high density female connnector

X1 motor:
LEMO PFJ.2B.304.CYCDxx type connnector

X1 encoder:
D SUB 15 pin high density female connnector

Y motor:
LEMO PFJ.2B.304.CYCDxx type connnector

Y encoder:
D SUB 15 pin high density female connnector

T motor:
LEMO PFJ.2B.304.CYCDxx type connnector

T encoder:
D SUB 15 pin high density female connnector

USER 2:
D SUB 15 pin high density male connnector
4x AWG26 twisted pairs + 4x AWG 24 isolated wires

Z motors:
LEMO PFJ.2B.310.CYCDxx type connnector

Z1 encoder:
D SUB 15 pin high density female connnector

Z2 encoder:
D SUB 15 pin high density female connnector

Z3 encoder:
D SUB 15 pin high density female connnector

USER 1
RJ45

CZ encoder:
D SUB 15 pin high density female connnector

2x M4 PE connection

C-01 (Z3TM+ vacuum sensors option):
D SUB 15 pin HD male

C-02 (Z3TM+ PoGo pin option):
D SUB 15 pin HD male 

1:2

Mobile Panel

Mobile Panel
6:5

Y motor

Y encoder
C-02 (Z3TM+ PoGo pin option):
D SUB 9 pin female 

C-01 (Z3TM+ vacuum sensors option):
D SUB 9 pin female 

USER 2:
D SUB 15 pin high density female connnector

USER 1:
RJ45

1:2



1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16

A

B

C

D

E

F

G

H

J

K

A

1

B

C

D

E

F

G

H

J

K

L

2 3 4 5 6 7 8 9 10 11 12

M

17
88

6 
20

0 
A1

- - -
ETEL S.A.
2112 Môtiers
SWITZERLAND

(71)

(1
25

)
(9

4.
75

)

(94.75)(94.75)
(9

4.
75

)

(1
49

.6
)

(1
34

)

(143.5)

(140)

(147.7)

(156.9)

(9
0)

 w
he

n 
Fi

ne
 Z

 a
t +

2.
35

m
m

 
Fi

ne
 Z

 s
tro

ke
 =

 4
 m

in
.

(3
)

3x
 (4

)

(120 )

(120 )

(120 )

6.5
(45 )

(18
)

(10
)

(20)

(12)
(4)

(13
.5)

an_etel ID number: 1324806-..
Text: Change orientation User C01 and C02 D-sub + add note screw penetration max     Change No. C138130-05

Released: 16-Mar-22

Original drawing    Multi axis system Z3TM+ Tolerances as per ISO 8015 : 2011
Tolérances selon ISO 8015 : 2011Scale Format Système multi-axes Z3TM+Dimensions in

mm 4:5 A1 Mating Dimensions / Cotes d'encombrement
Dimensions without tolerance
Dimensions sans tolérances -

The reproduction, distribution and utilization of this document as well as the communication of its contents to others without express authorization is prohibited. 
Offenders will be held liable for the payment of damages. All rights reserved in the event of the grant of a patent, utility model or design. ( ISO 16016 )

Version Revision Sheet Page

1326462 01 A 01 1
of
3Document number

View W

T Stroke = 365° min.

Wedge adjustment screws.
Use according instruction of user manual.

Fine Z top hardstop adjustment system.
Use according instruction of user manual.

T Motor
Lemo FGG.2B.304

Z Motors
Lemo FGG.2B.310

6x fitting for tube ø6

CZ Encoder
D-Sub 15pm

Z3 Encoder
D-Sub 15pf hd

T Encoder
D-Sub 15pm

Z1 Encoder
D-Sub15pf hd

Z2 Encoder
D-Sub 15pf hd

GND
M4 x 6

CZ clean

Chuck Vac 1
Chuck Vac 2

Chuck Vac 3

Chuck Vac 4

T clean

Forks kit
Delivered with the product

Assembled by customer

View W

Screw M4 x 10

A
01

Tip/Tilt Stroke = 0.09  min.



T

T

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16

A

B

C

D

E

F

G

H

J

K

A

1

B

C

D

E

F

G

H

J

K

L

2 3 4 5 6 7 8 9 10 11 12

M

17
88

6 
20

0 
A1

- - -
ETEL S.A.
2112 Môtiers
SWITZERLAND

3x 120

30

30

3x 120

95

12
0

3x M5 x 6

3x M5 x 6

2x 5 H7 x 6

20

15

4x 90

CZ Stroke =12 min.

( 0.5 )

(7
)

4x
 

3.
2 

H
8

(1
39

.5
)

(0.7)
(27.7)

(1
.2

7)

(75 )
(3

)

(2
.1

5)

(4.7)

(1.4)(0.8)

(3
x 

5 
x 

7.
5 

)

an_etel ID number: 1324806-..
Text: Change orientation User C01 and C02 D-sub + add note screw penetration max     Change No. C138130-05

Released: 16-Mar-22

Original drawing    Multi axis system Z3TM+ Tolerances as per ISO 8015 : 2011
Tolérances selon ISO 8015 : 2011Scale Format Système multi-axes Z3TM+Dimensions in

mm 4:5 A1 Mating Dimensions / Cotes d'encombrement
Dimensions without tolerance
Dimensions sans tolérances - 

The reproduction, distribution and utilization of this document as well as the communication of its contents to others without express authorization is prohibited. 
Offenders will be held liable for the payment of damages. All rights reserved in the event of the grant of a patent, utility model or design. ( ISO 16016 )

Version Revision Sheet Page

1326462 01 A 01 2
of
3Document number

0.2 T

0.2 T

0.05 T

0.
07

T

Lift pin location

T-T

X

Y

ZRotation axis

X
10:1

Customer fitting or part of chuck
O-Ring 2x0.6

Y
5:1

CZ Stroke

Limited T Stroke

T Stroke limited
 

Option   65  min.
Option 125  min.
Option 185  min.
Option 245  min.
Option 305  min.

Z
5:1

4x O-Ring delivered with the product
Assembled by customer

W

Pogo Connector 8 Pins on rotative part

2:1
W

V

V
5:1

Pogo Connector
8 pins
Pitch 2.54 mm

User C-02
D-Sub 9pm A

01

A
01

T



1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16

A

B

C

D

E

F

G

H

J

K

A

1

B

C

D

E

F

G

H

J

K

L

2 3 4 5 6 7 8 9 10 11 12

M

17
88

6 
20

0 
A1

- - -
ETEL S.A.
2112 Môtiers
SWITZERLAND

(5
.5

) 

(
14

0)

3x M4 x (5.5)

(168)

(13)

(3
3)

(R
4)

an_etel ID number: 1324806-..
Text: Change orientation User C01 and C02 D-sub + add note screw penetration max     Change No. C138130-05

Released: 16-Mar-22

Original drawing    Multi axis system Z3TM+ Tolerances as per ISO 8015 : 2011
Tolérances selon ISO 8015 : 2011Scale Format Système multi-axes Z3TM+Dimensions in

mm 4:5 A1 Mating Dimensions / Cotes d'encombrement
Dimensions without tolerance
Dimensions sans tolérances -

The reproduction, distribution and utilization of this document as well as the communication of its contents to others without express authorization is prohibited. 
Offenders will be held liable for the payment of damages. All rights reserved in the event of the grant of a patent, utility model or design. ( ISO 16016 )

Version Revision Sheet Page

1326462 01 A 01 3
of
3Document number

Wobble adjustment kit

Delivered with the product
Assembled by customer

Vacuum 2

User C-01
D-Sub 9 pm

4x Vacuum sensors for : 
Chuck Vac 1
Chuck Vac 2
Chuck Vac 3
Chuck Vac 4

A
01


	Feuille 1
	Vues
	new_view_1
	dessous_2
	dessus_3
	droite_4
	gauche_5
	gauche_6
	new_view_10


	Feuille 2
	Vues
	new_view_16
	new_view_12
	Front panel
	new_view_14
	Mobile Panel


	Feuille 1
	Vues
	new_view_1
	gauche_10
	gauche_11
	dessous_12
	new_view_14
	new_view_46


	Feuille 2
	Vues
	new_view_17
	gauche_18
	X
	Y
	new_view_23
	Z
	new_view_27
	W
	gauche_33
	V
	new_view_45


	Feuille 3
	Vues
	new_view_24
	new_view_39
	dessous_42
	new_view_43
	new_view_44



